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Instructions :

(1) First 15 minutes are allotted for the ¢

(i) All questions are compulsory.,

(ili)  Question Nos. 1 to 10 are of Multi

(iv) " Question Nos. 11 to 20 are of Very Short Answer Type
be given in about 10 words (one sentence) each.

(v)  Question Nos. 21 to 26 are of Short Answer Type - I Questions. Their answers are to be
given in about 50 words each.

(vi)  Question Nos. 27 to 30 are Short Answer Type ~ II Questions, Their answers are to be
given in about 100 to 125 words eac

(vil) Question Nos. 31 and 32 are Lon

andidates to read the question paper.

ple Choice Type Questions.

Questions. Their answers are to

(vi) Allotted marks of all the questions are given against each of them.
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L. ﬁﬁmﬂaﬁaﬁw%@ﬁwﬂwmﬁm ?
(A) 1990
(B) 1991
(C) 1992

(DY 1993
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(A) 1963
(B) 1965
(€) 1967
(D) 1968

5. Al 1 IR WO 1
(A) shafms
(B) i g
© o stk siis fywm 2
(D) T & & wrf T

6. 1953 % W §1 RN F T 47 1
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(B) T IR
(C) Hify smam
(D) faw amam
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. (Multip)e Cholce Type Questions)
Note Four altcmali\'es

| ¢ given fo; each of the following ten questions. Choos
Orrect altemati\-’e an

d write i in your answer-book.

When did Mlkhail Gorbachev resign ﬂ‘bm the post of the President of Russia ?
(A) 1999 N |
(B) 199,
©) 199,
(D) 1993
2. What is the maip objective of ASEAN 9
(A)  Economic development
(B) ' Economic ang political development
(C)  Only cultural development |
(D) None of the above
3. What type of problem is Global Warming ?
(A) National
(B) International )
(C) Local
(D) National and Local
323(IR) [50f12]
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4.  When was the Nuclear Non-proliferation Treaty signed ?

(A) 1963
(B) 1965
(C) 1967 c“
(D) 1968

5. What is the main cause of Globalization ?
(A) Technology

(B) Economic development

(C) Technology and economic dcveloprﬁé;ht both

(D) None of the above PE

6. Which Commission was implemented in 1953 ?

(A) State Re-organisation Commission o

W7
(B) Planning Commission i
L))
)

(C) Niti Aayog

(D) Finance Commission

7. Between whom was Shimla agreement sig’ﬁ;.'d ?
o

5
(A) India and China A

-
]

(B) India and Bangladesh
(C) India and Sri Lanka

(D) India and Pakistan
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8. Who was the Chairman of Mandal Commission ?
(A) Karpuri Thakur
(B) Vindeshwari Pragad £
{7

(C) Jay Prakash Narayan

(D) Vishwanath Pragad

9. Who, among the following, is main founder of Indian For;iﬁn Policy ?
(A) Subhash Chandra Bose
(B) Sardar Vallabhbhai Patel

(C) Rajendra Prasad

(D) Pt. Jawaharlal Nehru

10.  Which of the following is a member country of the Security Council of the United

Nations ?
(A) India
(B) China
(C) Brazil

(D) Germany
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(Very Short Answer Type Questions)

T T % 37 QA A P A g g ) gow g F e K 14

iy . . of
Write names of those two European countries which are the permanent members

United Nations Security Council, 1]
12. 1967 3 R % At Y Fwn R oft 7 393 @ frf 2 3 T frfge | 1+%+%
12, What was the number of ASEAN countries in 1967 2 Write names of any two of them.

- 1+¥H+%

13, TovE TR R (WHO) W e gmm a7 141
13. What is W.H.O. ? What is its main function ° T+1
14, T ! YTOETIs srauRon a1 g 2 2
14. What is traditional concept of Security ? ] 2
15. ¥ wafaco ) goen & & s fafay | 141
I5. Give two reasons of the problem of Global Environment. 1+1
16. mﬁﬁﬂm%ﬁﬁfﬁa‘raﬁﬁmm%| 141
16.  Mention any two objectives of planning in India. 1+1
17, Te-Friwgm &1 3¢ ww Hifyo |
17. What is the meaning of Non-Alignment ?
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18. T WA w1 vy v ¥ fab st 3 R o 2

18.  The slogan of ‘Remove Poverty’ was given by which Indian Prime Minister ? 2

19. nm-uﬁrw-ﬁﬁfﬂg?

2
19.  What is politics chcéalmon 7 2
20. m%@mﬁ%ﬁvﬁanﬁi%m%ﬁfml 1+1
20. Write names of ani@wo State located in the North-East of India. 1+1
>
¢
0
)
b (T -3erlig - 1 ww)
(Short Answer — I Type Questions)
21, P G R FEERF D Fd w1 veerg B 2% + 2%
21.  Mention two reascfgilﬂ for the success of European Union. 22 + 2%
22. ‘mﬁmmﬁ‘www%?maﬁﬁm#ﬁm 3+2
22.  What is the meaning of ‘Common Property Resources’ ? Write with examples 3+2
R
Cn
23, Avdte § Dy F AR B 5
o
23.  What s the role o{%chnolagy in Globalisation ? 5
24, TS g e Y fl ) R &1 oo B | 2% + 2%
24. Mention any two recommendations of the State Re-organisation Commission. 2% + 2%
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28.

28.

29.

29.

30.

30.

IQTSﬁWmamﬁm*amwl 2%+ 2%

Give two
reasons of the declaration of National Emergency in 1975, 2%+ 2%

S
e

SR TN T 7 b 3 e ] 5
o0

What was Assam Agreement ? Wmé in short. :

(¥g-3u8 - 11 )
O
(Short AnSwer - II Type Questions)

-

ﬁﬁnmzhﬁtﬁnm#érmqvhmna;%q|

2+42+2

Give three consequences of the disintegration of Soviet Union. 2+2+2

ﬁﬂﬁfmiﬂﬁgmmﬂﬁﬁdﬁﬂi?aﬁﬁwH4m%#hnmﬂrﬁmda$uma§31? 343

Why was United Nations formed ‘_?'-iﬂow far is it successful
World 2 |

in establishing peace in the
3+3

Fﬁhmr%q%mquﬂa#hﬁﬁWNW%aﬁwmﬁmaﬂ%aﬁr%ﬁﬁ#hwmmﬁanaﬂn#ﬁﬁqe

f% 2+2+2

Describe any three factors that inﬂh;hced the foreign policy of India after independence.

2+2+2
Zfag rciam a1 7 gaehT F IR B3 7 3+3
What was Dravidian Movement ? What was its impact ? 3+3
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(Long Answer Type Questions)

31, T - T e SR T T T sy R |7 5 e ) a A 8
ToaT
SR 1 R 2 Foehl Ty o €S 7 390 Te9d w1 3 7 41 98 U Wl @SA 8 7

2+1+43+2

31. “Border dispute and trade are the bases of current India-China relation.” Review the

statement. 8

OR

What is ASEAN ? When was it formed ? What are its objectives ? Is it a successful

organisation ? 2+1+3+2

32. WA A YW g9 % g0 7 3§ 999 WA o @ fufy oft 2 g s % e w1

sHfagar off ? 371 P #5837 1+43+2+2
I
AT & GHE WL & Gue T e off 7 3 freo 8 gan ? 3+5

32.  When was first election held in India ? What was the condition of India at that time ?

What were the difficulties against Election Commission ? How were they solved ?
1+43+2+2
OR

What were the challenges before India at the time of independence ? How were they

solved ? 3+5
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